
5.12

2.559

9.3°

2.95

.90

3.90

DESIGNER

MINIMUM 0.12" HIGH CHARACTERS, UNLESS THE 

1

.XX    
TOLERANCES:

D
10

00
39

3 
a

LI
G

O
 IN

TE
RM

ED
IA

TE
 M

A
SS

 T
O

P 
PL

A
TE

, P
A

RT
 P

D
M

 R
EV

: X
-0

22
, D

RA
W

IN
G

 P
D

M
 R

EV
: X

-0
08

 .010

CALIFORNIA INSTITUTE OF TECHNOLOGY

8

K. MAILAND

1. INTERPRET DRAWING PER ASME Y14.5-1994.

 5

PART NAME

AOS

inch

SYSTEM

4/14/10I ROMERO

22 FEB 2010

MASSACHUSETTS INSTITUTE OF TECHNOLOGY

ON NOTED SURFACE OF PART FOLLOWED ON THE 

APPROVAL 4/14/10

ADVANCED LIGO

SCRIBE, ENGRAVE (A VIBRATORY TOOL MAY BE 

NEXT ASSY

2. REMOVE ALL SHARP EDGES, R.02 MIN.

REVISION (AND VARIANT OR "TYPE" IF APPLICABLE) 

A

 .005

1:1304 SSTL PROJECTION:SCALE:

SIZE DWG.  NO.

D
REV.

FINISH CHECKER

SHEET 1 OF 1

SUB-SYSTEM

DRAFTER

NOTES AND TOLERANCES: (UNLESS OTHERWISE SPECIFIED)

D1000393
aLIGO INTERMEDIATE MASS TOP PLATE

A

5

.XXX  

SERIAL NUMBERS START AT 001 FOR THE FIRST 

K MAILAND

3. DO NOT SCALE FROM DRAWING.

(NO INKS OR DYES) DRAWING PART NUMBER, 

ANGULAR

4. ALL MACHINING FLUIDS MUST BE FULLY SYNTHETIC, FULLY WATER SOLUBLE 

D1000442
6

AND FREE OF SULFUR, SILICONE, AND CHLORINE.
4/14/10

3


ARTICLE AND PROCEED CONSECUTIVELY. USE 

EXAMPLE: DXXXXXXX-VY, TYPE-XX, S/N XXX
SIZE OF THE PART DICTATES SMALLER CHARACTERS.                

K MAILAND

DIMENSIONS ARE IN 

USED), LASER MARK OR MECHANICALLY STAMP 

14 2578

MATERIAL

NEXT LINE WITH A THREE DIGIT SERIAL NUMBER. 

NOTES CONTINUED: DRAWING TREE #DCN #DATEREV.

B

C

D

E

F

G

H

C

E

F

D

G

A

B

H

234567

  6.    MACHINE ALL SURFACES TO REMOVE OXIDES AND MILL FINISH,    
         USE OF ABRASIVE TECHNIQUES IS NOT ALLOWED.

  7.    DO NOT USE SANDPAPER, SCOTCH BRITE OR SIMILAR PRODUCTS.
 
  8.    ALL PARTS SHALL BE MANUFACTURED IN ACCORDANCE WITH
         LIGO SPECIFICATION E0900364

9    DRILL AND TAP ONLY

 9.1    DRILL PILOT HOLE FOR INSERT SPECIFIED ON THE DRAWING, REFERENCE 
              HELICOIL PRODUCT CATALOGUE, HC 2000

 9.2    COUNTERSINK HOLE 120 5, REFERENCE  HELICOIL PRODUCT CATALOGUE,
          HC 2000  

 9.3    TAP HOLES FOR INSERT SPECIFIED ON THE DRAWING, REFERENCE 
          HELICOIL PRODUCT CATALOGUE, HC 2000
       
 9.4    REMOVE ALL CHIPS

 9.5    GAGE THREADS WITH GAGE TOOL FOR INSERT SPECIFIED IN DRAWING,
          REFERENCE HELICOIL PRODUCT CATALOGUE, HC 2000 AND AS PER
          AGREED INSPECTION

--
-

- -

-E1000234JUN-29-10v1
v2 14 JUL 2011 E1100351

B

M

C

A

A

5

B

M

C

BA

A

.005

C.005

.005 M

B

A

1.693

2.52

.354

 5.946 

3.150

4X 3.62

4X 

.197

.472

 2.441 

 2.756 

1.575

2

1.181

2.978

9

.158

2.677

 9.134 

 TYPR

.984

8.858

 4.449 

1/4-20 NITRONIC 60 INSERT
4

3.346

2X .197

2X 

.268 THRU

X 

.098

 9.449 

 9.843 

.630

.315R5.906

 .787 

1.695

.2361.913

5.118

.709

 THRU.472

 7.333 

X DRILL & TAP FOR

2X 

.433

X DRILL & TAP FOR
9

.236

2X 

.353

1.693
 3.600 

 8.404 

.295

.344

 TYP.157R

 

 1.250 

.747

 .157 

 2.441 

THRU ALL
4

1/4-20 NITRONIC 60 INSERT
.747

2X R.236

C

.583

2X .071

.005 M B A C

 5.118 

 .394 

 .197 

 9.016 

1/4-20 UNC NITRONIC INSERT
2X DRILL & TAP FOR

9

.005 M C A B
 5.118 

 9.016 

 .197 

 .394 

1/4-20 NITRONIC 60 INSERT
2X DRILL & TAP FOR

9

2X POCKETS

SCALE 2 : 1
DETAIL A 

2X

.079 DEEP

.005 M C A B

4X R
FULL RADIUS

THRU ALL .201

.197

.118

.630

.472

1/4-20 UNC   THRU ALL
2X  

.236

(.354)

ISO VIEW


